
1_anglický jazyk_6.A_čas, slovní zásoba_řešení 

- Napiš do sešitu vyjádření času: 

6.25  - It´s 25 past 6 a.m. 

5.45 - It´s quarter to 6 a.m.  

11.50 - It´s 10 to 12 a.m. / it´s 50 past 11 a.m. 

2.10 - It´s 10 past 2 a.m. 

15.30 - It´s half past 3 p.m. 

18.20 - It´s 20 past 6 p.m. 

2.45  - It´s quarter to 3 a.m. 

8.15 - It´s quarter past 8 a.m. 

1.55 - It´s 5 to 2 a.m. / it´s 55 past 1 a.m. 

19.35 - It´s 5 past half past 8.p.m./ it´s 35 past 7 p.m. / it´s 25 to 8 p.m. 

14.40 - It´s 20 to 3 p.m. / it´s 40 past 2 p.m 

3.45 - It´s quarter to 4 a.m. 

9.10 - It´s 10 past 9 a.m. 

7.00 - It´s 7 o´clock 

3.05 - It´s 5 past 3 a.m. 

 


